
resources are fully employed. Movement from one point to another on the 
boundary shows a shift in the amounts of goods being produced, which requires a 
reallocation of resources.  
 

For example: Trade-off between private sector goods and public sector goods. On the curve 
are the best possible combinations that are attainable.  
 
 

If you choose combination A then you are 
selling more of Private goods where the 
opportunity cost of capital would be the 
public sector goods that aren’t sold. This is 
the trade-off between private sector 
goods and public sector goods. If you 
choose combination B then the trade off is 
between selling more public sector goods 
and less private sector goods.  
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